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Quiz 2
You must give complete, mathematically correct proofs to receive full credit!!
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Problem 1. (5 points) Let G = {[ 0 1

} | a € R}. Prove that G is a group under

matrix multiplication.

Let A Be G. Then AB= Lo« L b= I ath e G , 50 the oFcra-Hon is closed .
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Matm x liHp'l(cmH'or\ is associatve . The identihy elemeat in G is [O \]
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Since A—\GG, G is a 3muf>‘

Problem 2. (5 points) Let G be a group of functions from R to R, where the operation
is addition of functions. Prove that H = {f € G | f(1) = 0} is a subgroup of G.

The (cieh'h‘g ‘n G is e(0=0 ¥xe R ;o ee H since e(1)= 0.
Leb fige He Then (£+90) = £(0+4() = 040 = 0] 5o figeH.
et ‘F& H. Tts iavese on G is *“Fl and (."F)(l) =7 ]C(l) = -0 :O}

S0 —feH. Thes H is a subgrop by the Subgowp Test.



